HLOdYX3d
NNVWSINNVIN

vIT

L1

HLOUX3d
NNVISINNVIN

Ieq ozg 01 dn pue Jeq 09T 01 dn ainssald

1o} sabue|4 uonosauuo) adid

4 Flange connection B1 Pipe reduction
L2 L3
) o\ N G& L4
I <
I \
= o ol ¢ © < ©| o9 499
& 8 [ [ 1888 T s 888 T 1 T2g88
I [
/
! s 7 e 8
3 \:& | ''''' E]‘ \ \ .
) /I/_ 1 for size 52; ND 160 and 320 5
for size 62; ND 160
Welding nipple: Material St.52.3
Flange: Material St. 52.3
Pressure rating up to 160 bar up to 320 bar
WRD/WRZ/WRH 52 WRD/WRZ/WRH 52
5533?;% S 52, s\(sz, S62, s\ﬁez, S82, s\isz, S 102, SY_102, S52, s\(52, S62, s\lfez, S 82, sY_sz, S 102, SY_lOZ,
WEH52,DB52, | WEH62, |WEHS82 DB82,| WEH102, |WEH52,DB52, | WEHG62, |WEH 82, DB 82, WEH 102,
MG 52, MK 52 MG 62, MK 62 | MG82, MK 82 | MG 102, MK 102| MG 52, MK 52  [MG 62, MK 62 |MG 82, MK 82 |MG 102, MK 102
B1 100 120 150 180 100 120 150 180
@D1 81 97 118 142 81 97 118 142
@D2 45 54 73 89 40,3 51,1 69,6 79,3
@D3 50 63 84 94 40.3 51,1 69,6 79,3
@D4 53 66 87 98 43 54 73 83
@D5 60,3 76,1 101,6 114,3 60,3 76,1 101,6 114,3
@D6 17 21 25 33 17 21 25 33
D7 98 118 145 175 98 118 145 175
@D8 76,1 101,6 114,3 139,7 76,1 101,6 114,3 139,7
@D9 66 87 98 118 54 73 83 100
@D10 63 84 94 115 51,1 69,6 79,3 95,5
@D11 50 63 84 94 40,3 51,1 69,6 79,3
@D12 53 66 87 98 43 54 73 83
@D13 60,3 76,1 101,6 114,3 60,3 76,1 101,6 114,3
L1 90 110 130 160 90 110 130 160
L2 22 26 30 35 22 26 30 35
L3 35 45 55 65 35 45 55 65
L4 90 105 115 110 90 105 115 110
R1 — - 5 5 - 5 5 5
R2 3 3 5 5 3 5 5 5

For ordering code see page 2

1/°G0 :saoejday
98'80/T0S SV

34

98'80/10S S¥ 3d



vIc

HLOYX3d
NNVWSINNVIN

Pressure- Flange for Seal- Conn. Weld Flange S.H.C.S. O-ring Pipe
rating valve type material flange neck item 2 item 4 reduction
complete item 3 item 5
temlto4| item1 Msp
WRD/WRZ/WRH 52
S 52, S\L/52, WEH 52, | NBR 303901 009345
134734 133778 M16 x 80 210 Nm 003140 | 50,16 x 5,33 135000
DB 52, MG 52, Mk 52 | FPM 303941 009346
S 62, SY_62, WEH 62, | NBR 303903 009112
up to 134736 133478 M20 x 100 430 Nm 003160 59,7 x 5,33 135001
MG 62, MK 62 FPM 303943 009113
160 bar S 82,5Y82, WEH 82, | NBR 303905 008035
L 134738 133976 M24 x 120 730 Nm 003177 | 78,75x5,33 135002
DB 82, MG 82, MK 82 | FPM 303945 009114
S 102, SY_102, WEH 102 | NBR 303907 009115
134741 133980 M30 x 140 1450 Nm 003182 94,6 x 5,33 135003
MG 102, MK 102 FPM 303947 009116
WRD/WRZ/WRH 52
S52, 852, DB 52, | NBR 303921 009345
133779 133778 M16 x 80 210 Nm 003140 | 50,16 x 5,33 135004
WEH 52, MG 52, MK 52 | FPM 303961 009346
S 62, 8{62, WEH 62, | NBR 303923 009112
up to 133784 133478 M20 x 100 430 Nm 003160 59,7 x 5,33 135005
MG 62, MK 62 FPM 303963 009113
320 bar
S 82,982, WEH 82, | NBR 303925 008035
L 133978 133976 M24 x 120 730 Nm 003177 | 78,75x5,33 135006
DB 82, MG 82, MK 82 | FPM 303965 009114
S 102, S\I{102, WEH 102, [ NBR 303927 009115
133981 133980 M30 x 140 1450 Nm 003182 94,6 x 5,33 135007
MG 102, MK 102 FPM 303967 009116

‘ON Med
98'80/10G S 3




HLOdYX3d
NNVWSINNVIN

vIE

Flange connection

Pipe reduction

L5
L1 L1
13 _ 12 | l2_ L3
B1
Pl > N L4
% > 7
I | D I > ol o S N @
3 cEE = 888 11888
'% — 1
N,
"—i _____ 7L _____ A, '\‘Q" NS
/
/ ! 5 4 for size 52; ND 160 und 320 Items 1 and 2: Material St.52.3 3
2D6 for size 62; ND 160 Items 3 : Material St. 52.3
Pressure rating up to 160 bar up to 320 bar
WRDWRZWRH 52 WRD/WRZWRH 52
\fgﬁ‘cgfy‘;’é $52,5\52, s62, SV62, s102, S¥102, s52, SV52, S62, S\62, s82,8/82, | s1028)102,
WEH 52, DB 52, WEH 62, WEH 102, WEH 52, DB 52, WEH 62, WEH 82, DB 82, WEH 102,
MG 52, MK 52 MG 62, MK 62 MG82, MK 82 | MG 102, MK 102 MG 52, MK 52 MG 62, MK 62 MG 82, MK 82 MG 102, MK 102
B1 100 120 180 100 120 150 180
D2 45 54 89 40,3 51,1 69,6 79,3
D3 50 63 94 40,3 51,1 79,3 79,3
D4 53 66 98 43 54 73 83
D5 60,3 76,1 1143 60,3 76,1 101.6 114.3
@2D6 17 21 33 17 21 25 33
D7 98 118 175 98 118 145 175
D8 76,1 101,6 139,7 76,1 101,6 114,3 139,7
D9 66 87 118 54 73 83 100
@D10 63 84 115 51,1 69,6 79,3 95,5
oD11 50 63 94 40,3 51,1 69,6 79,3
@D12 53 66 98 43 54 73 83
?D13 60,3 76,1 1143 60,3 76,1 101,6 114,3
L1 90 110 160 90 110 130 160
L2 22 26 35 22 26 30 35
L3 35 45 65 35 45 55 65
L4 90 105 110 90 105 115 110
L5 180 260 320 180 220 260 320
R1 — — 5 — 5 5 5
R2 3 3 5 3 5 5 5

For ordering code see 4

uoIsuawiq nun

(ww ur suoisuawiq)

98'80/10S S¥ 3d



1714

HLOYX3d
NNVWSINNVIN

uoIsInal 0] 193lgns — paniasal siybll v

®
CE E § g § Pressure- Flange for Seal- Flange | Weld Weld Flange S.H.C.S. O-ring Hexagon Pipe
e gh Z 3 3 | rating valve type material union | neck neck item 3 item 5 nut reduct.
oS S R= 0 item 4
o w?
BosCs compl. | item1 | item 2 Msp item 6 item 7
0.’:; o ©= 3 WRD/WRZ/WRH 52
N o 0
~*3Q S 52, SV52, WEH 52, NBR 303900 009345
59=z3 L 134734 | 134735 | 133778 | M16 x 140|210 Nm |009108 |50,16 x 5,33 M16 | 003755 |135000
S 9 %. = DB 52, MG 52, Mk 52 FPM 303940 009346
e 0O
[9)
o
% — ?; S 62, S\(62, WEH 62, NBR 303902 009112
=S I upto 134736 | 134737 | 133478 | M20 x 180|430 Nm |003168 | 59,7 x 5,33 M20 | 003756 |135001
&= MG 62, MK 62 FPM 303942 009113
o
3
(]
3 § 160 bar S 82, SY_82, WEH 82, NBR 303904 008035
N 5 134738 | 134739 | 133976 | M24 x 200| 730 Nm |003180 |78,75 x 5,33 M24 | 003757 |135002
= DB 82, MG 82, MK 82 FPM 303944 009114
(o]
(2N
o S 102, S\|/_102, WEH 102 NBR 303906 009115
5 134741 | 134740 | 133980 | M30 x 250|1450 Nm|005582 | 94,6 x 5,33 M30 | 003758 1135003
MG 102, MK 102 FPM 303946 009116
WRD/WRZ/WRH 52
TS0 S 52, SY_52, WEH 52, NBR 303920 009345
X r% or 133779 | 133993 | 133778 | M16 x 140|210 Nm |009108 50,16 x 5,33 M16 | 003755 |135004
= T g C:E DB 52, MG 52, MK 52 FPM 303960 009346
2D X
oo =
N Z % up to S 62, SY_62, WEH 62, NBR 303922 009112
o2 133784 | 133999 | 133478 | M20 x 180|430 Nm |003168 | 59,7 x 5,33 M20 | 003756 |135005
o) Qo d MG 62, MK 62 FPM 303962 009113
[ e vl wn-
m 320 bar
5 % S 82, S\[82, WEH 82, NBR 303924 008035
o © 133978 | 133990 | 133976 | M24 x 200| 730 Nm |003180 |78,75 x 5,33 M24 | 003757 |135006
m > DB 82, MG 82, MK 82 FPM 303964 009114
S 102, s\{loz, WEH 102 NBR 303926 009115
133981 | 133987 | 133980 | M30 x 250]1450 Nm|005582 | 94,6 x 5,33 M30 | 003758 |135007
MG 102, MK 102 FPM 303966 009116

‘ON Hed
98'80/T0S S¥ I




	Unit dimensions
	Part No.
	Unit Dimension
	Part No.

